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Choose The Correct Answer

1.For any three sets P,QandR,P — (Q N R) is

AP—-(QUR)
B.(PNQ)—R
C(P-QU(P-R)

D.(P-—Q)N(P—R)

Answer: C



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_6hh4dFbLfpEU

L = vvailln viaco S0Iution )

2. If
n(AUBUC) =100,n(A) = 4z, n(B) = 6z,n(C) = 5z,n(AN B) = 20
and n(A N BN C) = 10 then the value of x is .

A.10

B.15

C. 25

D.30

Answer: A

° Watch Video Solution

3.If \/80k = /bthen k = ...

A2


https://dl.doubtnut.com/l/_6hh4dFbLfpEU
https://dl.doubtnut.com/l/_KPiJWIPqIlOx
https://dl.doubtnut.com/l/_rxXTFXiJy4AF

B.4

C.8

D.16

Answer: B

o Watch Video Solution

4.1f/9° = V9 then & = e

N w >

O
w|ot Wl Wk W

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_rxXTFXiJy4AF
https://dl.doubtnut.com/l/_4NCJgbvfe69h
https://dl.doubtnut.com/l/_lcsuvt6ZoSds

5. Cubic polynomial may have maximum of linear factors.

Al

B.2

C.3

D.4

Answer: C

° Watch Video Solution

6.The GCD of a*, a* 1, a**° where ke N

A. ak

B. ak+1

C. ak+5

D.1


https://dl.doubtnut.com/l/_lcsuvt6ZoSds
https://dl.doubtnut.com/l/_dztVHGiNQQPg

Answer: A

° Watch Video Solution

7.1n a cyclic quadrilateral ABCD LA = 4x, Z/C = 2x the value of x is

A.30°

B.20°

C.15°

D.25°

Answer: A

° Watch Video Solution

8. AD is a diameter of the circle and AB is a chord. If AD = 30 cm and

AB = 24 cm then the distance of AB from the centre of the circle is....


https://dl.doubtnut.com/l/_dztVHGiNQQPg
https://dl.doubtnut.com/l/_jCdBVB5oxumi
https://dl.doubtnut.com/l/_sDnjDP0EX2DC

A.10 cm

B.9cm

C.8cm

D. 6cm

Answer: B

o Watch Video Solution

9. A particular observation which occurs maximum number or times in a

given data is called its

A. Frequency

B.range

C. mode

D. media

Answer: C



https://dl.doubtnut.com/l/_sDnjDP0EX2DC
https://dl.doubtnut.com/l/_00cymiI2zcpN

| o Watch Video Solution

10. The median of the first 10 whole numbers is

A4

B.4.5

C.5

D.55

Answer: B

° Watch Video Solution

Subjective

1. Draw the Venn diagram of A U (BN C)

o Watch Video Solution



https://dl.doubtnut.com/l/_00cymiI2zcpN
https://dl.doubtnut.com/l/_3nxjPz08DdqL
https://dl.doubtnut.com/l/_mzTf0AAh72mm

2.Find the value of (243)2/5

o Watch Video Solution

3. Simplify /63 — /175 + /28

o Watch Video Solution

4. Represent the following information in scientific notation :

The world population is nearly 7000,000,000.

o Watch Video Solution

5.Show that (z + 2) is a factor of z* — 422 — 2z + 20

o Watch Video Solution



https://dl.doubtnut.com/l/_U32ZYudNQpCl
https://dl.doubtnut.com/l/_SeEyI2n80J7X
https://dl.doubtnut.com/l/_7jn0hXrDDuAL
https://dl.doubtnut.com/l/_L1ogAJLAK7n8

6. Expand (2z + 3y + 42)*

o Watch Video Solution

7.Finda® + b’ ifa+b=6,ab="5

o Watch Video Solution

8.The radius of the circle is 25 cm and the length of one of its chord is 40

cm. Find the distance of the chord from the centre.

o Watch Video Solution

9. Find the value of z

&2

o Watch Video Solution



https://dl.doubtnut.com/l/_l8I2zcZgdfpv
https://dl.doubtnut.com/l/_8Qp5UYmCCmJQ
https://dl.doubtnut.com/l/_Hnq0T3Q2ol0M
https://dl.doubtnut.com/l/_ECnVVN0dRfiP
https://dl.doubtnut.com/l/_uPbpKzDd83qu

10. Find all the angles of the given cycle quadrilateral ABCD in the figure.

&2

° Watch Video Solution

11. The mean weight of 4 members of a family is 60 kg Three of them have
the weight 56 kg, 68 kg and 72 kg respectively. Find the weight of fourth

member.

° Watch Video Solution

12. The following are the scores obtained by 11 players in a cricket match

7,21,45,12,56,35,25,0,58,66,29. Find the median score.

° Watch Video Solution

13. Find the mode of the given data: 3.1,3.2,3.3,21,1.3,3.3, 31

e l


https://dl.doubtnut.com/l/_uPbpKzDd83qu
https://dl.doubtnut.com/l/_IOUEIAamiGFD
https://dl.doubtnut.com/l/_4XyHqyFythsZ
https://dl.doubtnut.com/l/_Tsmy0T3xFpnD

| ¥ Vvatch Video Solution |

4. f U=1{4,78,10,11,12 1516}, A = {7,8,11,12}  and

B ={4,8,12,15} and (AU B)’

° Watch Video Solution

15. If ( x1) divides the polynomial kz® — 2z% + 25z — 26 without

remainder , then find the value of k.

° Watch Video Solution

6. If A={11,13,14,15,16, 18}, B = {11, 12,15, 16,17, 19} and
C = {13, 15, 16, 17, 18, 20} then verify

AN(BUC) = (ANB)U(ANC).

° Watch Video Solution



https://dl.doubtnut.com/l/_Tsmy0T3xFpnD
https://dl.doubtnut.com/l/_cQ8YNXbYrGlR
https://dl.doubtnut.com/l/_mCJBpL31o3k3
https://dl.doubtnut.com/l/_16oh4ciwuotX

17. Verify (A U B)" = A’ N B’ using Venn diagram.

° Watch Video Solution

18. A survey of 1000 farmers found that 600 grew paddey, 350 grew ragi,

280 grew corn. 120 grew paddy and ragi. 100 grew ragi and corn, 80 grew

paddy and corn. If each farmer grew atleast any one of the above three,

then find the number of farmers who grew all the three.

° Watch Video Solution

19. Arrange is ascending order: /2, ¥/4, /3

° Watch Video Solution

20 If a=4,b=5 and c=6 then find the

(ab+bc—|—ca—a2—b2—c2)

(3abc — a3 — b® — ¢3)

value of



https://dl.doubtnut.com/l/_rwS2OZB0xbwu
https://dl.doubtnut.com/l/_WojZH8QRWrsW
https://dl.doubtnut.com/l/_fWoscnef9cCA
https://dl.doubtnut.com/l/_sBHBQLQo8Wwd

o Watch Video Solution

21. Factorize 23 + 1322 + 32z + 20 into linear factors

o Watch Video Solution

22. AB and CD are two parallel sides of a cyclic quadrilateral ABCD such
that AB = 10 cm, CD = 24 cm and the radius of the circle is 13 cm. Find

the shortest distance between the two sides AB and CD.

o Watch Video Solution

23.The following data gives the number of residents in an area based on

their age. Find the average age of the residents.

&2

o Watch Video Solution



https://dl.doubtnut.com/l/_sBHBQLQo8Wwd
https://dl.doubtnut.com/l/_jkrn8MtXPZ4P
https://dl.doubtnut.com/l/_bvtAzBymu5eQ
https://dl.doubtnut.com/l/_IjEVOLIifAfa
https://dl.doubtnut.com/l/_JZak8i3tMXYw

24.The following table gives the weekly expenditure of 200 families. Find

the median of the weekly expenditure.

&2

o Watch Video Solution

VT -2
VT +2

25. Find the value of a an db if =ay7+Db

o Watch Video Solution

26.1n a circle, AB and CD are two parallel chords with centre O and radius
10 cm such that AB=16 cm and CD= 12 cm determine the distance between

the two chords?

o Watch Video Solution

27.Draw an equilateral triangle of side 6.5 cm and locate its incentre. Also

draw the incircle.


https://dl.doubtnut.com/l/_JZak8i3tMXYw
https://dl.doubtnut.com/l/_YxOyxnQJ1Y7p
https://dl.doubtnut.com/l/_QHQnUv6qDOy3
https://dl.doubtnut.com/l/_sdmAi7h2zz7b

° Watch Video Solution

28. Construct the centoid of APQR whose sides are

PQ = 8cm, QR = 6cm, RP = Tcm

° Watch Video Solution



https://dl.doubtnut.com/l/_sdmAi7h2zz7b
https://dl.doubtnut.com/l/_F6N58ulFwq0s

